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ELECTRICAL ENGINEERING

L

- The function of a starter in a D.C. motor is to
(A)  Control its speed
S (B)  Increase its starting torque -
o s @) Limit the starting current to a safer
e value :
HH (D)  Reduce armature reaction effect
}. In regenerative breaking, the motor energy

PEaas

(A)

Dissipated in armature heating

pated in winding losses

0 the supply mag"' 0
above :

of a tran S are
tivel
~ Inductively
Not linked'acall
®  Be Iy linked
‘ A tran; r transforms
e o

Current

. Voltage and current
; (D)  Frequency ‘ ;
5 9 The transformer efficiency will be
% maximum at a power factor of
(A) 0.8 Lead
W@ Unity
(C) 0.8Lag
(D) 0.5Lagor Lead : :
6. 3 Why is the core of the transformer built up

(D) For mcreas g. ,.permeablhty
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ELECTRICAL ENGINEERING -

7$ The residual magnetism of a D.C. shunt

generator can be regained by

(). Connecting the shunt field to the
battery

()l? Running the generator on no load
for some time

(C)  Grounding the shunt field

(D)  Reversing the direction of rotation
of the generator

Coo

With the increase in speed of a D.C. motor
. (A) Both back emf as well (asyline
B Clrent increase
«(B) Both back emf as Wqﬂ" as line
. current fall P
% yﬂgmf mcrgﬁcs&ut line current

D) Back emf fa'll and line current
increases
The direction, of rotation of a D.C. shunt
motor can'be reversed by interchanging
(Ay_ « The stipply terminals
(B) " The field terminals only
(C) » The armature terminals only
: \j‘ Either field or armature terminals
The torque - speed characteristic of a D.C.
shunt motor is
(A) A rectangular hyperbola
A drooping straight line
©) A parabola
(D)  None of the above
If N is the speed of a D.C. series motor
and I, is the armature current then

1
W Neg
(B) Nal,
(C)  Nal?
1
P Neg

12.  Variation in speed by Ward-Leonard
Y control method of D.C. motors occurs due
to variation in
(A)  Field excitation
>B)  Armature current
M) Armature voltage
(D)  Supply voltage
45 BT O:

e —
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T T arsve lozfo 7T § 400 Trers
T 8 ga €| yfaya IRa g a1 A 2
‘qﬁ‘a%lmﬁﬂmmﬁwmm%

(A) 100V
B) 200V
© 400V
(D) 800V

s W G0 @ wh §
S a1ey

(D) ﬁéw%rra(\

oo 3ve TR gRT BT A
BT A
8) i
®) %
Eg—V
. CE i
(D) I+

<e$‘ =

ELECTRICAL ENGINEERING

\1}. In lap winding, the number of bl_'ushes is
always i the number of poles.

(D)  None of these ? .

14. A lap wound D.C. machine has 400
conductors and 8 poles. The voltage

per conductor is 2V. The machine
voltage of

@:ﬁ%on no load the

0 etlc neutral

axis in the opposite direction of
rotation 2 :
Q Concides with the geometrical

@ neutral axis

\ (D)  None of the above

Under- commutation results in-

Sparking at the middle of the brush

Sparking at the leading edge of the

brush g

Sparking at the trailing edge of the

brush

(D) No sparking

The armature current in a D.C. shunt
v/ generator is given as
% Eg+V
o
E
_8
&
AU D
w
a
0B ) e d
46 '
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18. R-L-C uRuy & W % ued ¥ @ The frequency at which maximum voltage
: e g 8 1= gy grft oceurs across the capacitor in an R-L-C
circuit is
i 1
(A) 2m/LC : : lgé) 2myLC -
®) 2nJLC-C?RI )2 (B) 2y LC-C?R? )2
1 /1 R? ot® b s
= O it
1 e
o) 2mVLC—RZ (D) W2mVLC-R2
19. S acdieR A ¥ &9 o @ § afg 19. —'Whﬂe ineasurmg power in a 3-phase load
T Y B |, < e dew 3 T - by wattmeter method the readings of two
ﬁ:g AT ST feard <ff afe wattmeters are equal and opposite when
(A)  UR Saex BT oHE 1 () Pfi mUm“l‘y
. (B deugmd (B) Loadis balanébcf
& > e 2 v |
O BSl BT 1 A 60° ﬁ?JT (0 i Phase anée is between 60° and
. a9 5 Py  0° _ e
] L € W The l0ad is pure inductive
20. 5 ‘EMF _induced in a coil rotating in a
T “ uniforni'magnetic field will be maximum
SANE 7 -\ when -
‘(AE} Flux linking with the coil is
&Y N 1 maximum
Oy ' i) ~ Rate of change of flux linkage is
& W minimum
: @ ‘)/ Rate of change of flux linkage is
N maximum
QT (D)  Rate of cutting flux by the coil is
miminum
2% In a D.C. motor the windage losses is
proportional to
(A) Supply voltage
(B)  Square of supply voltage
&  Square of flux density
Square of the armature speed
22 22, Pole shoe of a D.C. machine is laminated
for the purpose of
(A)  Decreasing hysteresis loss
\. Decreasing eddy current loss
' (C)  Decreasing both hysteresis and
eddy current loss »
: (D) .Manufacturing ease -
D RN S D T ¢ P.TO.

ELECTRICAL ENGINEERING
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24.

26.

23.

25.

S

ELECTRICAL ENGINEERING

T AT BT I ARG qo AN 100 A B \3‘3; The rms value of a sine wave is 100 A. Its
ERCa iRl i 1 R ~ peak value is
(A) 707A : = (A 707A
an A ' e IRLA
©"  150A % SR 150 A
(D) 2828A ' (D) 2828A
]I yegradt fao 910 geif @1 7 8- 24.  Two sinusoidal emfs are givenas
e1=Asin(wt+§)We-i':-——Asin(mt—ﬁ) e el=Asin(wt+§)ande1=Asin(wt—§)
A AFF B S D BAR BT AT (3t %) The phase difference between the two
o | : _
(A) 79
®)  105° 60
(€) .60° 6 :
) S (<
1003%9@%?‘\'3’]’@7@ d efo &inﬁgure 3
g1 @&, o # culs a2 2| iRy p apurel@rofIOQ.What
g IR BT 919 B? power diss@ the resistor? :
t(SEC) —»
A) : 270w
(B) ; 135w
(©) R 52w
(D) ot ” Tw
Th ST WRfore  aRuer ﬁﬁ?ﬂ 6. A small capacitance is added to a highly
Sired ® T ¢ ‘ inductive circuit, :
(A) fawa gem uRr 6\3&7 BT (A) The angle between voltage and
9o & current will increase
(B)  UIER Haex g s B The power factor will increase
€ T H (C)  The power factor will decrease
(D) % gedr & (D)  The power drawn is decrease
m% 9reR Hhaey BT ¥ 27, The power factor of a practical inductor is
@a =R (A)  Unity :
B I3 Wl Zero
(C) T (©)  Lagging
D) ; (D)  Leading
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ELECTRICAL ENGINEERING

28.  If an ohm meter reading immediately goes
practically to zero and stays there while
checking a capacitor, the capacitor is
(A) Leaky :

Short circuited

(C)  Open circuited

(D)  Satisfactory
%2. Soft magnetic materials have

. High permeability and low
® _ coercive force

permeability  and

ietic  ind an emf is

[ a conduetor whenever it

Lies in tic field
Lies p@icular to the magnetic
Fi 3

@ e magnetic field
oves parallel to the direction of
magnetic field -
‘the two conductors carry current in
2 pposite directions, there will be
\ (A) A force of attraction between the
_two conductors
JB A force of repulsion between the
two conductors .

(C)  No force between them
(D)  None of the above

-

JB~  Flux/ current

(B)  Flux/length
(C)  (voltage)*/ current
(D)  None of these
{3/ ' The area of hysteresis loop is a measure of
(A)  Magnetic flux
(B)  Permeance
(C) mm.f percycle ;
- Energy loss per cycle y

32, Inductance has the dimension e N

T e
ErTTAY
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34.

35.

36.

37

38.

39.

40,

B

o i)
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©
(D)

- faga gohfafRar
= & 4 ol W, R gfe =8 ¥
) g aw e
B)  uftrm
©)  gUsFER
D) [Ry _
T et favg S § B arfRd—
(A) e %0 THO TWO
(B) = g0 o two ‘
©  TEukRe
D) T A PR

?ﬂmmmﬁwﬁw%mﬁ

(A) IRYTH
B)  de¥ go w0 o
(©)  SiewH fog
D) (AT (B) aHF
A R & B aRuy g
HAGd g9 # Vi BT 4149 B
(A) I’—ufde RFr fa
(B)  gem —uRuy R
©) F S
(D)
Jat B
(A)
(B)
© H=
(D) ..
&S TS el w R @ ey e @
Hed & 1Y faMg gedr
A)  aEE
B) faueE >
(C©)  3Imay #H
D) T BEl
o T & ey g
CARCIE| o
qTE B MY P IWER
T8 D I A BH
T | PIS 7

i {00 o
s E,m g,ﬁf the battery nearest to the

ELECTRICAL ENGINEERING

34, Which of the following 1s not bilateral

* element? ;

; Constant current source &

' >%v) Resistor

(C)  Inductor
(D)  Capacitor

35.  Anideal voltage source should have :
(A) Largeem.f. z

(B)

Small e.m.f. i
Zero resistance

both (A
Thevem&rcun between two
sequalto
%ult terminal voltage
n—cnrcult terminal voltage
voltage available in the circuit

Cells are connected in parallel in order to

increase the
(A)  Life of the cells
(B)  Efficiency

B Current capacity
(D)  Voltage rating

39. During discharging of lead acid cells, the
 terminal voltage decrease with the
decrease in
- (A)  Temperature
Discharge rate
A&7 State of charge
(D)  None of these
' 40. The potential inside a charged hollow
sphere is
WX Zero
BB  Same as that on the surface
(C)  Less than that on the surface ¢
(D)  None of the above

50 -
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frega sffraRr : ELECTRICAL ENGINEERING

: . $ found by
e B fm grn (A) Laplace’s Law
T B Al w P g UB)  Fleming’s right hand rule

HYEH BT eyl Fram ERT (C)  Kirchhoff’s Voltage Law
& o gro : ; - (D) Lenz’sLaw
R 31 ORRIY g9 9GaT 8, A 42, Resistance of copper wire always increase if
9 gedr & : e (A)  temperature is reduced
. temperature is increased

( ber of free electrons available
pmes more %

i ] . the above
ﬂﬁa‘: T 9 g B @ ¢ g: vire i B of the sax%xaterial
B I%IWIQW r 9 2r nd lengtt 21 have r T and 2r

T JfFATd \ ly. The ratio G r specific
| \." o

sed as

] =
J= aF
(D) R= p i A
Wthh of the following relation is not correct
‘ \4
§AY P
B) P=VI
P
© 1—\/;
@ v=vPR
- In the figure below the value of R is
J- 5 «Al}\A,
.l. 100V 100 100,
(A) 250
B) . 5.0Q
7.5Q 4
D) 10.0Q 4
v 51 3 v i S « A P.T.O.

ok # Ren e & g I @ The direction of induced em.f can be

' %t from in field theory

R

e
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48.

49.

50.

51

82,

53¢

: ; ELECTRICAL ENGINEERING :
It B A=A s Fmfor 3 l%fQ’\ 47.  The retentivity (a property) of material is

SUIRTY Bt & — 7 useful for the construction of

(A) TINBER ) o (A)  transformers - .

(B) @W‘H gereft 4 (B)  non-magnetic substances

©) el g M  permanent magnets

(D) fga gue : (D)  electromagnets

1 % & B & wh WIGNST & — 48, Which of the following materials are
: " : “" diamagnetic?

(A) dfer (A)  copper

(B) =id—drer silver-copper

©) =iy ilver : %

(D) oher @

ST 9% BT FANT T e & — gnetsareuse% '

(A) TReR H % :

B) oSS Wiew § ; S g _

©)- A d !

(D) ST T § u@,

gaﬁumaﬁsms‘%— gnetic flux is

(A) T

(B) THRR/Hex

€) R

(D) TR e /aay .
IS YIBIG AN B T qaref H material for good magnetic memory
; should have :

(A) (A)  low hysteresis

(B) (B)  high permeability

© W high retentivity ,
(D) F : (D)  low retentivity -

Reree=q : ; 52. * Unit of reluctance is

(A) TRIRR ¢4 /36 b JB  ampere-tumns/weber

(B) T&w 0 (B)  weber

(©) #rex/20 Q (C)  meter/henry

(D) T/ Hex 0 : : (D) henry/meter

Th Bl At B 53.  Higher the self-inductance of a coil,
A) < $H BRI ¥ (A)  lesser its weber-turns

(B) 0 9 HH B (B)  lower the e.m.f induced

©) YTy &1 A9 D% R ~ (C)  greater the flux produced by it

(D) fIa arr zerfg s # 3% 8l &F longer the delay in establishing
! : g steady current through it ;

52
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fazga svﬁﬁuﬁwr ELECTRICAL ENGINEERING
g e ud "gﬁlﬂﬁ'q W @ RS EINE §4 The ratio of intensity of magnetization _‘to'

®Y H ST o B - X the magnetization force is known as .
& (A)  flux density

B susceptibility

)  relative permeability

, (D)  none of the above

IR B IS © — 35, The unit of relative permeability is

: : (A)  henry/meter

B)

henry

mensionless : %
i have @ve

s than unit E
ore th
@La@eﬁcmateﬁals
e, forefinger always

U‘& ion of force on the conductor
urrent

gnetic field

elsa is equal to
1 Wb/mm?
1 Wh/m?
I mWb/m”

©)
.o_ (D) 1 Wbm ;
i 59. The electromagnet has 50 turns and a
] \“  current of 1A flows through the coil. If the
length of the magnetic circuit is 200 mm,
what is the magnetic field strength?

(A) 2500 AT/m’

B) 25AT/m
W 250AT/m
(D) 2.5AT/m
HE  qreAl . gHED A square cross-sectional magnet has a pole
1x10 JaR & UG TR strength of 1 x 10 Wb and cross sectional
20 fiFfix20 ol & | &ar . area of 20 mm x 20 mm. What is the
100 AT @1 T W e strength at a distance of 100 mm from the

unit pole in air?

(A) 63.38 N/Wb

(B) 63380 N/Wb
) 633.38 N/Wb

(D) 6338 Yo /TR - - 6338N/WB
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faga goffafRer ELECTRICAL ENGINEERING

e sEeofes w o A9 ev1 6l Voltage applied across a ceramic dielectric
B P gAw A 100 M @ N produces an electrolytic field 100 times
grEgIfaiR® &% SO e R greater than air. What will be the value of
SEAfdEd ReRids &7 A9 &1 2nyy 2 2 dielectric constant?

62. =1 uqred 4 A s Widga fdie 62, Which of the following materials has the
$ .

(A) 100 e - 100
(B) 150 ke (B) 150
! (©) 200 () 200
g (D) 250 ®) 250

FRET HI AP ® ? ghest value of dielectric constant?
A) Rrfas 6
o @
(©) dr O)

} (D) faafa i g : 6

; 63.% e & A A vs. L 7B | ¢ ectric fielc quantity of

i % - (A afewr : ] | S ‘

: (B) wfew : 3

1 (©) (A)TE (B) I (C)  both (AY4nd (B)

: D) 7 I B T (D) nﬁ the above

: 64. < ; The @ or'preferred for high frequency-

‘ ci $ }

air capacitor
) electrolytic capacitor

(C)  mica capacitor
(D)  none of the above :
The surface integral of the normal
component of the electric displacement D
over any closed surface equals the charge
enclosed by the surface. This statement is
associated with :
A)  Faraday’s law

Gauss’s law
(€)  Lenz’s law
(D)  Kirchhoff’s law |
6. The unit of dielectric strength is given by

v/m

B)  v¥m

(€ Smlvs

D) my? i
&%  The bridge used for the measurement of

~ the value of the capacitance is
(A)  Wien’s bridge :
B)  Wheatstone bridge
\h Schering bridge
(D) Hay’s bridge

65.

L 66..

AT RS,

67.

. ; (33\(“ "V\V‘

A S 1 it e v e e, it

/
|
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|
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75.

e

# 1P

78.

79

80.

TP 40 dIC BT 904, U ©H BleX &

Wi g o ELECTRICAL ENGINEERING

TR B Teror &G UG o IR 9 _5 For testing appliances, the waltage of test
T & B ARY — v T i ol be

(A)  dFga Eﬁ"f _ very low

(B) w= i . :%? high

(C) ¥HemH S : (C)  medium

(D) FEd e (D) very high

100 AE V& 40 AT D B A, 200 A 76, Two lamps 100 W and 40 W are
3 TS R3] JolpE H \_{E} i ﬁ";f ; connected in series across 230 V. Which
q9 ?ﬁﬁ T e eI § P - ofthefollowing statement is correct?
(A) 40 gIe BT AT AH FHBI
(B) 100 aTe FT wiw e THDHT
(C) =rff oy wEE Y [/ THBY

W lamp will glow brighter

(D) 4ommréwmz‘ramm ﬂ jamp will

In series with a

SOMHH F T[ST B B 40 T4 : W bulb is replaced
Y 100 dIC PT §¢d BleX D 100 heater output will
W, BeX & ASTYT — ‘

(A) ¥ & 8l Q;(A) é X

B) 3 (B) ain same

© cater will burn out

(D) increase

?Jﬁ' 029 & ] S Q a wire conductor of 0.2 ohm resistance

1s doubled in length, its resistance

' becomes : 3
B 040hm 4
(B) 0.8 ohm B ;

(©) (C) 0.6 ohm

D) : (D) 1.2 0hm s

TP TS 9N P XfT = 79 The rating of a fuse wire is always
BRI ad fr oiran & - expressedin
(A) UHRR — gueg o ' (A) amperes-hours

(B) foamre 3 ; , (B) kWh

() TR aa ‘ E  amperes

D) TR (D) amperes-volts

Hae 99 Afbe .Eﬁh’-ﬁvl'ﬂ ‘§0 Superposition theorem can Be applied only

o, fobar S \ewar 8, ford & — to circuits having

(A)  ufeRieres sEyg : (A)  resistive elements

(B) ey sgug - < (B)  passive elements

(©) &r fefesia srgg : : . linear bilateral elements
D) NG Jggg (D) non-linear elements

56
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ELECTRICAL ENGINEERING

T Aiex H oEERd 3},‘9@?’“ ThNT 81, Damper winding used in synchronous

il & ; ~ motor to-
Rex T &1 fraa &= A ! (A)  Stabilized rotor motion .
. e T B @R (B)  Suppress rotor oscillation
- FEEE R el S FRA (C)  Develop necessary starting torque
) 3 (C) &t - B Both(B)and (©) '

Skin effect results-

Resistance in ac>resistance in dc
(B) Resistance in ac=resistance in dc
istance in ac<resistance in dc
f these

D DRI 82

Y O

Gal anome r
he resistanc a parallel circuit
51stmg of ”anches is 12 ohms, If

resis t@ e branch is 18 ohms,
hat is is

tance of the other?
8 ohm |

36 ohm
64 ohm
Which of the following material has nearly
zero temperature co-efficient of resistance? -
(A)  Porcelain
Manganin
(C): Copper
0 i (D)  Carbon
: 8§/ One newton meter is same as
o (A)  fivejoules
0 (B)  one watt
: JB  onejoule
(D)  one joule /second : ,
FHUEIER, Wl gEDIY 87, The force experienced by a current
2, 91 WEqH PRl § — carrying conducter lying paralled to a

magnetic field is -
" Zero :
3] » ' : B) " Bl
. BIfsin® : (C) = Blfsin®

BIZ cos 6 , : (D) Blfcos® :
E P.T.0.

t which detects @? _

o é. e

!
i
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88.

89.

90

9B

22

93,

94.

95.

fga geffaRs | ELECTRICAL ENGINEERING

CRO # $UTS fbed Bee ey &= \} Cathode of CRO is coated with-
(A &RE yeRt - (A)  Alkali material
- (B)  AIRTH eSS e . (B)  Thorium oxide
(C)  BIR AFAZS 3 Copper oxide
(D) IRTw TR : (D)  Barium oxide :
1037R03M0 ¥ T AT W AT %— 89. A CRO can be used to measure-
(A) oo dreear (A) ac. voltage
(B) oo deear y (B)  d.c. voltage
©) an‘gﬁr Frequency

(D) SWRIFE T
TRGER &1 e e Bt 2 oy — . 4T
(A) gv;ﬁmwaﬂgaﬁmw |

B) aﬁgaﬁemﬁmwz‘m% : i : Core loss=0
(©) W‘sﬁm’{@:ﬁ%‘f’r% ) '

All of the above
rmer has maximum eﬁicxencymhen-
loss— iron loss

iz

3
A e

a&?z%

b gt % F:
*""of a nickel-iron

'. mck | h x1de

(B) KOH T 21% HI5 ution of KO

(€) i Tﬁ T m iron and its oxide
(D) SWIET wH 2 e above
IR S B ﬁl"?‘x’ % s loss depends upon-
A) Jgfa T $ ; Frequency :
(B)  dreedr ‘ & Voltage
(©) (A)SIR ~ Both (A) and (B)
(D) g (D)  None of the above
Tl 5 g ¢ Change in excitation of synchronous

qv— motor result-

A) % (A)  Change in motor speed
B) Change in power factor
© (C)"  Both (A) & (B)

D) (D)  None of the above

?}4 V curve of synchronous motor relates-
(A)  Field current and Power Factor
(B)  Armature current and voltage

(C)  Excitation current and back emf.

de field current and ac cammieter ™

current
5% Wthh type of motor is used in small toys-
Shaded pole
(B)  Repulsion
(C)  volo Soft A\ew , (C)  A.C. series motor
D) =T | B T : (D)  None of the above

58 T 200 ;
da—lg o rage?
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ELECTRICAL ENGINEERING

@ ~ For accuracy of the instrument which is
e necessary- :

(A)  Conformity

(B)  Precision

J@ Both

(D)  None of the above
\9]. At which angle in two wattmeter method,

one wattmeter show zero readings-

one of the above
torque i$ essential for indicating

Deflecting
Controlling
Damping
All of the above
In current transformer- S
JBE Secondary winding must be closed
(B) . Secondary winding must be open
(C)  Primary winding must be closed
(D)  Primary winding must be open
\1914 Rectifier type instrument can be use in-
a.c.
B) - dic G
(C)  Both(A) and (B)
(D) Pulsating
027 Dynamometer type of instrument can use
' in- s e :
(A)  acs

©)

N ®) de. .
- (A)IB)THE A . @@ Both(A)and (B)
- TS T URT H ) (D)  Pulsating

59 : PT.O.

- 3 BUAZ S MEILONL S il A Y ey 5
N i e

—



Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


e ey eyt o S Y
e iy et

103.

104.

105.

106.

107.,

108.

109.

110.

faegga SR ELECTRICAL ENGINEERING

UF did & R &1 ke RQ %I ?If?{ i/a( A Copper wire having resistance RQ. If its
TP dH|E G aR _é’r-aﬁ? length doubled and radius becomes half

ameft R Y W A1 AT uioRe tﬂ"ﬂ— then new resistance will be-
1 , 1

). o S5
(B) 4R : (B) 4R -

G » i
(£)  ioe L) e
D) B8R : ' 8R
5 a7 &1 YT TABH BT © | 104. Which instruments have uniform scale-
A T ege T ‘ g - Spring control instrument

Gravity control instrument
©) (A)AR@®B)H Both (A) and (B) : @
(D) SR H | BIS &I
qre—aver I3 fH YHR &1 & B | strument is th of-
(A) . :

A

_ Non%ﬁf the above

\& ‘a Shunt parallel to ammeter

a Shunt in series to-ammeter
(C)  aMultiplier parallel to ammeter
(D)  aMultiplier in series to ammeter
: )98 Which type instruments have hysteresis

loss zero-

MC
AE). - ML
(C) Both

(D)  None of the above
109. Which damping is most efficient-
(A)  Air friction
(B)  Fluid friction
" Eddy current -
(D)  None of the above

fore1 frsgept A9 # wNT B %— \1/0 Maxwell bridge is used to measure
(A) WRed A Inductance
(B)  emRRar : : (B)  Capacitance
(C) omgfe “5(C) - Frequency . .
(D) SWRET H A BIY BT . (D) None of the above

60

e of ammeter can extend by -
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e gohfraRa ‘ " ELECTRICAL ENGINEERING

3#Ie} @1 IR® R &7 WF QM. Internal resistance of an ideal ammeter is-
; S s U Y R
Rl : 5 A , \. Zero
ST ; .. (B) Infinite
) @ (B e (C)  Small
ST @) (D) Big
qic o 112. One KWh of energy equal to-

(A)  1000W
o 860 K cal
" 4186J
D) i35 W O‘:
olute pél‘mittivity is -
A oulomb 0
R meter 6
eter % '
d/Coul fo
s kno S rical inertia-
TR | '
IJ q
@ of the above

@n of induced e.m.f. can be found

Lenz’s law
qR B) Fleming’s RI.R.
Ml Both (A) and (B)
il (D)  None of the above
\1}6. Reciprocal of admittance is
o (A) Resistance -
% (B)  Inductiye reactance
0 (C)  Capacitive reactance -
Impedance . -

: {y Phasor quantities have-

, ¢ Amplitude and direction both variable
P Rer w&dft B : (B)  Amplitude and direction both constant
7, foum Rer &l 21 (C)  Amplitude variable, direction constant

A B9 A1 G 8l o | ly Which is correct in ac system-
T = aita J19 (A) r.m.s. value=average value
i AemEE qo = %i e A (B) r..s. value= %_z—average value
g gus Y o ;
gt e e = o SRR r.m.s. value= -7 average value

None of the aboyg

op

Vm".v;

Year 8, foen seerh B (D)  Amplitude constant, direction variable

PO,
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119

120.

1215

122.

123

124.

~ faga gehfala _ ELECTRICAL ENGINEERING

FTAHAT BT ATFP &Il &— : ~119. Unit of conductance is-

(AR i o R AA) mho

®) e S siemens

(©) =En T )ﬁ both

(D) SWRIE 3 EAES :i?f (D)  none of these

FATAD B T B W DT GRRIE— 120. On heating insulator resistance-

(A) dSe@ @ . N (A) Increases

(B) Hearg : (B)  Decreases

() Rer e 2 : Remain Constant

@ (@A) ®) < | § Both (A) and (B) &
DIF-AT HAF T 27 : Which statement is true- Q

(A) &g uRuy &1 9fRY = E’!?ﬂ gl Short tance
(B)  gell uRue o1 HfRe KRR Bl resistance
© (&) six (B) T i

(D) FIE E \

fb garl &1 99 TorE GBIl Which materi: ave negative temp.
gl o 4 coefficient ;

) -

(B)

©

D)

s U n pure resistive circuit power factor will
Bral

(A) One Y

(B) Zero &

© Infinity

(D) : Half

JAEIRIYYT BT YHT I gfRger # @‘, Super position theorem is applicable only-

(A)  Non linear circuit
Linear circuit
(€)  Resistive circuit
(D) Passive circuit
{2/51 In pure capacitive circuit angle the voltage
with respect to current is
&) 0"
(B) 90’ leading
B 90lagging

(D)  None of the above




